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question from 1 to 30 four options: are given. One of them is the correct
ake your choice” (‘r 2 3 or 4) Shade the correct oval on the Opt!cal Answer
- 50 marks]‘

1. Look at the diagrams of living things X and Y below. - -

Which--éf the‘folld\;vi.rtg | s:fgiéfnent(s) a’bout> liviﬁg things X and Y'is-/‘are,t‘me._".),.
A Both X and Y can grow. | | |
B:  BothX and Y can reprodﬁce. B

C:  BothXand Y can make their own food X

(1) Conly

(2) Aand B only
(3) BandC only
(4) A, BandC

(Go onto tt}e next page)
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L@

Jil placed a seed into a contalner of SOIl as shown below. She poured water on
the soil’ dally '

Which one of the following dlagrams shows what Jill would observe after a few

» 'days’?

(1 | , <))

@

('Go on to the next.page)
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: Four puplls A, B C and D planted a seed which grew mto a strong and healthy
young plant as shown below.

They made the following statements about the main functions of the part labelled
X. | -

Pupil | Statement

A it supporis the leaves and the flowers.

It makes food for the plant.

B
c . lt takes in water and mmeral salts from the soil.
D

it helps to transport water from the roots to other parts of the plant.

Which pair of pupils had made the correct statement?

(1) AandBonly
(2) -Aand Donly
(3) BandC only
(4) C and D only

(Go on to the next page)
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&

* Jasvinder observed four animals, P, Q, R and S as shown below. .

She classified the animals into Group 1 and Group 2 in the table shown below.

- Group 1 . ‘Group 2 R
— P |
- S R

Which one of the following pair of heac!ings is the most suitable for the groups?

Group 1 _Group 2 .
11 -‘Have hair - ‘Have feathers o
.12 .. |Haveyoung. . . __-lHavenoyoung
“13 " |Havenowings Havewings

“"Have backbone

~THave no backbone -

(Goon to the next page)




5.  Study the pictures below.

&

Which of the following correctly describes the difference(s) between a butterfly

and a ball? |
[ Butterfly ' —_[Ban
A. | Cannotmoveonitsown | Can move on its own
B: | Can grow and reproduce- Cannot grow and reproduce
C:_| Needs air, water and food- | Does not need air, water and food
(1) Aonly
(2) Bonly

(3). BandConly. . ... -
(4)_ ~Aand C only

(Go on to the next page)
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Zimi placed four sliees of bread in identical bags which were sealed as shown

SetupB

After a few days,.Zimri observed that some fungi started to appear on the' bread

in one of the set-ups.:Which set-up is most m(ely to have fungi growing on the
bread?

(1) A
2) B
@) C
4 D

(Goonto the next page)
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The table below shows some information of four organisms, E, F Gand H. A tick
(\l) shows that the characteristic is present and a cross (X) shows that it is not
‘present.

Characttérisﬁcs

Has flowers Can make its own food Grows on land
E v N v
F X N X
G v + X
H X X v

The following plant has snmnlar charactenstlcs as one of the four orgamsms E, F,
Gand H. - :

Which organism has similar characteristics as the above plant?

(1) Organism E
(2) OrganismF
(3) Organism G
(4) Organism H

{Go on to the next paae)
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8 TheQrap_h»lf);elow shows the number of Ahimal A over 12:months..
3
Numberof.
Animal A

20 +

15 - =t

10 T — '

5

v

Jan Apr Aug Dec
| Months -

Based on the graph above, what can you conciude about Animal A?

(1) Animal A reproduced during the 12 months.
(2) The height of Animal A increased every month.

. (3). Animal A grew in Jan, April, Aug and Dec only. - - -
(4) Number of Animal A increased the most in the month of Dec.

(Go on to the next page)
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(1) B

Ah'Seéng has sorme picture cards that show the life cycle 'Of'a‘h animal.

(Goonto the next page)
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1"

o

Azman observed an.insect that goes through the Jife cycle as shown below.

StageY  StageZ
Stage X Aduit

He found that the insect does not take in food from the surrounding at some
stages of the life cycle. '

At which stage(s) did this happen?

(1) Zonly

(2) Xand only-

(3) YandZonly
(4) Xand Zonly

" (Go on to the next page)
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1. Ginawanted to'find out if plants take in water through their roots. -

a:t-txggg plastlc
Setup A SetupB Setup! C Setup D

The roots of the plants in set-up B and set-up D were tied with éir-tight plastic
bags at the start of the experiment before putting into the beaker of water. Each
set-up had the same amount of water

Which of the two set-ups above should she choose to.conduct a fair test?

(1) A and B only
(2) A and D only
(3) BandC only
" {4) -CandDonly

(Goonto thé next page)
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12.  Sally placed a pot of p_la[it in a black box with a small hole. She made sure that
the plant was.well watered. After a month, she observed the plant growing as
shown below. ‘

Which'o'ne of the following correctly shows the box in which. the pot of plantwas
placed? ' ' ’ ’

()

—Black box
| with holes

@

N

(4)

" End of Paper A1
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13.  James poured 50 mi of wat’er‘eaéh»intb"abé"a’ker and a measuring cylinder as
shown below. ' =

measuring cylinder

1

beaker

50m]} of
water

Which of the following statement(s) is/are true about water inside the beaker and
measuring cylinder? ' '

A:  -The mass of water is the same. ’
B "TheA shabe of wétér' |s >diﬁerent.
C:: Thé volume of water is the same.
o) Bony

+2) Conly

(3) AandB only
(4) A,BandC

(Go on to the next page)



14. Deviblew. up a balloon as shown in.Diagram A. After-that, she twisted the- balloon

into the. shape as shown in Dlagram B. She had performed this task at room
temperature.

a

balloon

\J

Diagram A | ~* Diagram B

What can you conclude from Devi's experiment?

(1) Airhas mass

(2) Aircanexpand

(3) Air can contract

(4) Air has no definite shape

15, A glass botﬂe has a volume of 1000 cm’. Whlch of the follownng can be stored in
. this bottle?

A: 800 cm?® of air

B: 1100 cm® of air

C: 1 800 cm® of water
D: 1100 ¢m3 ’6f~water

- (1) AandConly
(2) ‘BandDonly -
(3) A,BandConly
. {4 'B;CandDonly -

(Goonto the next page)



'fNee!a used the set-ups below to f nd out more about sohds X and.

Flrst she placed each of the solids on the balance as shown in Set-up A.

Next, she placed each of the solids into two containers which have the same
volume of water as shown in Set-up B. :

Based on Neela's observations in Set-ups A and B above, what conclusian- could
she draw about the solids X and Y?

A: . Xhas agreater mass than Y.

B: Y occupied more space than X.

'C:  Theamount of space a matter bcé;fpied.depends on its mass.

A1) Aenly.
(2. Conly:

(3) Aand B only

- . (4 BandConly. .

(Go on to the next page)
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17. Tee Hock 'placed'a- bottle of water which was at room temperature in a pail of ice.

!

——+—— botlie of water

i

¥,
g

pail of ice

[ gl
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Which one of the following statements best describe(s) the changes in the set-up
_ after 5 minutes? - - o

A:  The bottle of water lost heat to the ice.

B:  The ice lost heat to the bottle of water.

C: The temperature of the bottle of water decreased.
(1) Aonly

(2) Conly

(3) AandBonly

(4) AandC only

1'8.' | 'Fou'r's'ini;ilé"r Qiasses, 'AA, B C and D contain different amounts bf hot v'véter‘a‘t h

80°C.
o o8°C BC 80°C 80°C -
Glass A GlassB Glass C Glass D

Whlch glass of water will také the longest time to cool to 30°C?
DAL
@o

(Go on to the next page)
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19. - Two glasses were stuck tOQethef‘aS}"s‘hOWn below.

Which one of the following would be the most suitable way of separating the glasses?

()

=— hotwater

3

4)

(Go on to the next page)
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Sue poured:equal.amounts:of water at 100°C into four cups of the.same shape
and'size. The four.cups:  different materials, T, U, V and W.

She measured the temperature of water in the cups after 20 minutes and recorded
the results in the table below.

Material ‘Temperature of water after 20 minutes (°C)
T ' 7% .
U 60
v - 45
W v 80 -

From the table above, which one of the following materials is the poorest conductor
of heat?

1T
(2 U
@)V
@4 W -

(Go on to the next page) -
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) dw:ShoWS the properties of three types of materials, P, Q and R.

tick (V) shows that the property is present, while-a cross (X) shows that the
prope'r'ty is not present. ‘

21.

Properties Materials
‘ P Q R
Flexible v X X
Magnetic> X v X
Allows light to pass through | X X |

Based on the information given in the table above, which one of the following
materials would P, Q and R most likely be? .

P Q R
(1) Rubber Iron 'Steél_
(2) [ Cargiss Steel e
(3) " Clear glass Steel Rubber
( 4) ﬁubber lrpn “Clear glass

(Go on to the next page)




220 Ben a_nd Jill played a game : as. shown in the. diagram below. The aim of the game
to} plck up object Y, which is attached to a paper fish.

wooden stick
- | .
L ] L ]

string

Object X --D . Object X

—— ObjectY

Object Y '

paper fish .
Start of game End of game

Which of the following could represent objects X and Y?

‘»»»Object‘x B I Ob}ectY

A iron rod steel block

B ~magnet _ iron block

C magnet ... steel block
(1) Aonly
(2) Conly

(3) Band Conly
(4)__A,BandQ, . , : e

{Go on to the next page)



10 ‘ R
sts; W X, Y-and Zwere hung from stnngs of two different
A ‘sar ber of iron nails was placed below each
magnet. lt was observed that different number of iron nails was attracted as
shown below.

23.  Foursimilarma

Based on the observation above, which one of the magnets was the weakest?

(1w
@ X
@) Y
@ z

(Go on to the next page)
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24. Bryan carried out the experiment below in a dark room.

Four sheets, A, B, C and D are arranged in a straight line. Sheet A has a star
shaped cut-out on it.

When Bryan switched on the torch, a star shaped light is seen only on
Sheet C. Which one of the following conectly describes the degree of
transparency of sheets A, B, C and D?

nght.passes thr,ough. Light does notpass |  Not possible to tell

" through
1 A | c | Band D
27 B - c TAandD
3] .B.and-D : | A C B
3 Aand C k B D

(Go on to the next page)



25,

12

Isa poured anequal amountof tap water at room temperature into two
identical beakers, A and B, containing identical thermometers. He then placed
two screws, P and Q, in boiling water.

After ten minutes, he lifted the screws out of the boiling water with tongs. He
put P in Beaker A and Q in Beaker B as shown below.

Which thermometer do you think would show the h;gher temperature and
why? .

| Theﬁhometef"' I Réaédh
. in Beaker . : -
() A | P had more heat energy than Q.
12 B Q lost heat faster to the water than P.
(3) A |P wouid take more heat out of the water than Q.
@ B The heat in Q was ooncentrated ina smaller mass and
: SO is more mtense

" End of Paper A2
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" For ques’nons 26 to 35, write your answers in the spaces provided. The number of
marks available is shown in brackets [ Jatthe end of each question or part question.
[30 marks]

26.  Study the flow chart below carefully.

Things around us

'Y
x .
(a) Based on the flow chart above, match the ob)ects below with the letters, W,
X,Yand Z. a 2]
rock
air

.. Based on the flow: chart state one property of matter that is the same for -

.,--:'.-'“':bQﬂ\Y andZ S R EE R 4[1] .

(Go on to the next page)



27.  Study the diagram below.

(a) Wiite the letters A, C and D in the boxes below to show the life cycle of the
plant. [1%]

(b) List three ways in which the roots help the piant to survive? [1%4]

(Go on to the next page)
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4

The table below shows two animals X and Y

Characteristics X Y
Type of movement Swims and walks ‘ Flies
Place where they live Water - lLand
Type of body covering Feathers | Hair
M-ethod. of reproduction Lays eggs Gives birth

| (a) Ciassify X-and Y into their correct g'rdups by ﬁlling in the most _suitéble boxes

below. 2}
Mammal - Bird Fish

(b) Which group of animals produces milk to feed their young? ]

3

(Go on to the next page)



29.  Study the classification chart below.

Animals
I l I
3 stages in ~ 4stages in
their Ii'lfe cycle . their ﬁlfe cycle
§ ) 1
Lay eggs Layeggs  Lay eggs Lay eggs
- inwater . onland - inwater ~onland
A 81 [e] D

(a) Based on the classification chart, state one similarity between Animals B and

D. (1]
" (b) Iden.tjif-onhe animal thét has the same charactensticsas - k [2]

(i) Animal A:

(i) Animal C: _

(Goonto the next page)



30.  Thirui placed an lnverted test-tube contamlng some water and water plants‘ inside

{/‘ \\;
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After ten minutes, he counted the number of bubbles produced by the water.
plants over a period of one minute. He repeated the procedure several times,
each time increasing the dlstance between the beaker and the lamp by 10 cm.

(a) What is the main functlon of the water plant leaves as shown in this
experiment? {1}

- (b) Whatis the gas that is found-mainly in the bubbles? - - - . [}

(¢) Which line in the graph below correctly shows the result that Thirui would

get? _ o [1]
Line: : B
Numbar of bubbles
produced n phe min
, N D
}
o AN
\ »
501 o | P
‘ . ~ e
40 \\', '-N-‘. o
e
30 B / VN
T Y Y = Y T —> lamp from
0 1 20 30 40 S0 60 70

. 80 besker{em)

3

(Go on to the next page)
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Yenni had four cubes which are made of different materials, W, X, Y and Z. She

. 'wanted to find out how well these cubes can absorb water. She placed the four
cubes in four covered contamers each ﬁlled wnth 200ml of water as shown

below.

a—— — omn e - — — — - . b o ety I
w— . - mmas s pam e o — ——— - —— ] — min —— - nad

—— w — - —— . — mam —— — A —

She left the above set-ups m the science rbb‘m for some time. At the end of the
experiment, the cubes were removed and the amount of water left in each
container was recorded in the table below.

Material of cube w X Y z
' Amount of water o SO B T
| left in container (ml) | “1’70"' | 200 - 160 -‘1'6-5_-"-- =

(a) Based on the tabie‘above, which material absorbed the most water? | [1]

' (b) Which rhatérial is besi, suited to make a raincoat? Explain your-‘ahswer. [2]

(c) _'Ngn]e one other variable, other than the amount of water, which must be
kept the same. 1]

(Go on to the next page)



Number of paper clips attracted

dropped and also the number of paper ¢ Jps attracted by the magnet after that.
The graph below shows the results of his experiment.

10 ‘20 30 40 Number of drops

(a)- What was used to-measure the strength of the magnet? ' R

~“(b) What conclusion can Ghaffar make from his results? m.

(Go on to the next page)
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Ah poured 300m of water into a measunng cyhnder When Object M.was

Object M the water level lncreased further as shown in dlagram 2

\ 3 o (
measuring
|80 —cylinder ~_|-80

-=- F] ——— ="

water. - o~ b o
- _—_~L~] ObjectM
- - =] =] St
bo- | ]
f A}
Diagram 1
(a) What is the volume of the cork? . (1]

(b) Devi followed the same steps as Ali but she started with 40cm? instead of

30cm? of water in the measuring cyhnder Will the volume of the cork be the a

_same? Explainyouranswer. .. . 1

“(c) Ali decided to replace the cork with a piece of sponge of the same volume.

He repeated his experiment. He noticed a difference in the water level as
compared to that in Diagram 2. Why is there a difference? [1]

(Go on to the next page) -



34.

'eonduct heat: ‘She use

. , 10

£ 4

g

Leng Leng carried _out an expenment tofi nd out how we!l different matenals can
three'rods that were made of different materials, P, Q
and R and three identical balls of candle wax were placed on top of each rod as
shown below.

Candie wax — ‘ @) O

—  — P - =] Q F— - ™ R [ T
o — - Gt e g Water at
— —| } — 4 - — 494 }— —

Leng Leng recorded the time taken for the ball of wax to melt completely for each
of the rods in the table below. :

"Material | Time taken for candle wax to melt completely (min)
3 ' - :
R - 8
(a) What had caused the candle wax to melt? Explain your answer. 2]

(b) Arrange the materials, P, Q and R, based on how well they conduct heat by
startlng with the best heat conductor. 1]

- Best heat conductor ———————————————> Poor heat conductor -

(Go on to the next page)



11

35. 'MEIbdy placed three:-rods of different materials, A, B and C in the same container
of bomng water as shown below. She measured the temperature of the three
rods over time.

e : material A
= == material B
material C

" (a) If Melody wants to find out which one of the three materials is the best
conductor of heat, state a variable which is not mentioned in the question
that she needs to keep the same to ensure a fair test. 1]

The graph below shows the change in temperature recorded for each
material after some time. The last readings were recorded at the 25-minute
mark. ' ‘

F )

100 1 B
Temperature 80— b
C) . 60_ N -3
40— E A

. 20 :
1 T T ) i >
0 5 10 15 20 25  Time (min)

(b) Which one of the materials (A, B or C) is most suitable to make the base for
a frymg pan7 Explam your answer. : 1]

{Go on to the next-page)
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' (c) What will happen to the temperature. of each material after several hours? [1]

End of Paper
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Q26a.Z,X,W,Y Q26b. Has mass

Q27a.B> A->D=C

Q27b. It absorbs the water and mineral salts from the soil, anchors the plant firmly to the
ground and keeps the plant upright to prevent it from falling.

Q28a. Mammal - Y Q28a. Bird - X Q28b. Mammals
Q29a. Both animals B and D lay eggs on land.

Q29b (i) Frog Q29b (ii) Mosquito

Q30a. Thesr need light to photosynthesize and make food.

Q30b Oxygen Q30c LineC . Q31a. MaterialY

Q31b Matenal X as it did not absorb any water and is waterproof and a raincoat should be
waterproof to keep the user dry. Hence, material X is best suited to make a raincoat.

Q31c.The thlckness of the cubes. Q32a. See how »many paper clips it can attract.
Q32b. The strength of the magnet will decrease when xt is dropped.

Q33a.10cm3 Q33b. Yes. All solids have a definite volume.

Q33c. The sponge absorbed some of the water, causing the water level to decrease

Q34a. The hot water. The rods conducted heat from the hot water and to the candle wax,
causing the candle wax to melt.

.. Q34b. Q, P R Q35a. The thickness of the rods should be the same.

Q35b. Material B. A base ofa frymg pan should' ctmtluct heat very fast in order to cook the food.

- . .As material B conducted the heat the fastest, 1t should be the most smtable to make the base for Lo

o a frymg pan

Q35c. It wﬂl turn to room temperature






